1090( Verchromuna/

hart verchromt und poliert

/ Schichtdicke 0,04mm

i

I
g
&
S
S
©/ S
SY
LIE
s
IS
S
&

ey

o]
ane]

9120

g

Reap

g

—1
R
o

Lo [ G

)
€
) Q S
§ ® S D
| | ‘ 8 — g g
° s ' W J>
) - NI
N e
/ Dr I \ re Sz ‘ ‘
N L \
/ } } \ v >/ \Z
(o]
P :n»—-\ih 'o E—"
18 16,5 20 30
—=20 [ | .25
» 1155 I __(1095) _
— — 2250 ' |
V(W VIV )
venndit bie 1981 Tag Namo Diee Zesthnung et unsées Eidentun
Ciedw ot 7009 %7._ Vervielaliqung oder Vervwaifan i

steatbar (Urhisbonecht Gos a 8O

[P

1:25

[SFLITEN AN

nn

Spanndorn
flr mech.Spannrahmen

_ . 0.08633.1

Lisate b

tLag . 7 - ! [ ‘ ?1 o

bk Aot Nr . ¢
B Aulfe Nf

Aghal D.06706.0

Sl & 2 bul el 3I0Y Lol
(L] 1"" nee e

B e e el Rl o T2 T





















T

@
s el
Mreagiringr
[ A AT
AL om g ea

TishsionTCrTEHS HERETRD
R e 10

e
e
o

ImRE I

e

TepmooBpaBoraxe
[0 700 - B00 Hivm2

Banok ons sanroske
awane 1460200 mm

Wl Je Blocl 160-200

AL A o]

Varyubut sl 100 - Kb M il
pettrested

e
e | g [TOE .
Py P e
iy = e
T T E
T | L P
1 I NE—
[ | 1 rafige
= I

- i
[T,
s



















1 7 3 L, 5 7 8 9 10 12 13 14 15 16
ANSICHT1(1: 15 )
ANSICHT2 (1: 15 )
2x@17.5 -51.2 TIEF A-A(1:15)
M20x2.5 - 40 TIEF 24Lx@135 -512 TIEF
32 3400+05 M20x2.5 - 40 TIEF
@8 -10 TIEF 125
! \
o Y
] () |
2 X 45° A 32 YAk
A RO.15 MAX
o2
12

§; 02‘_ E’o
2| =] ¢ s =
~ g ~N 2 | 15 | E ~N Py
S 313203 SR

N

S _Q

125
P S VAR o VA WA o S R VAR o WA N S VAR, VAR A o W Y VAR O VA A S R VA A
0.25/A
 %50,25|A C(1:15)

Lx@8,5 -25 TIEF
S = — M10x1.5 -20 TIEF
2l Y ld-
. o
| 5 A
| -+
| R Jgo
| \ = OL
| __F
| &
| =3
|
I
i
I
i _
I
| _
i 21
|
I
i
i
I
A |
o = | 3
Q ! NN
m I
i
i
i
i
i
i
|
I Werkstoffalternativen:
i 25 Pg (_0,022 - Blech gebogen und geschwei3f; S355 JR +N
i -0,074 - GeschweiBte kreisformige Stahlrohre fiir den Maschinenbau EN 10296-1; E 355 +N
i - StahlguB GS 240+N
i
| 6,3
I Lx@10,25 -32,3 TIEF
I M12x1.75 - 24TIEF
I S B
e Zone Rev Bezeichnung / discription Datum / date Genehmigt /
approved
: REVISIONSVERLAUF / REVISION HISTORY
J;_ _ _ _ Bearb. / Datum / date Toleranzen / tolerances Oberflache / surface Werkstoff / material
[ : ‘
; edited DIN IS0 2768-m-E |DIN SO 1302 E{% 1.0570 S355J2G3
6X¢10 25 v 23 Gepruff / Datum / date BM§ni:g/name .e
: hecked b atorgehause
M12X1'75 - 6H V 20 - y g Zeichnungsnummer / drawing no.
L1 @38 - ¥ 1 ,
Pr‘o.lekf: TA 2500_3000 Gew/:hIE/ wOefg9 Format / sheet size Blatt / sheet
7516.35 kg DIN A1 1/ 1
1 | 2 | 3 [A 5 7 8 9 10 12 13 14 | 15 | 16







@

-
- — U HeA— - — - — -
DETAIL "X
25
s 90
DETAIL "Y"
125

oy

MECHANICAL PROPERTIES OF THE HEAT TREATED MATERIAL
PROPRIETA" MECCANICHE DEL MATERIALE TRATTATO TERHICAMENTE

E—— )
TR AL MR b o %~ a7 DN EN 102503 8

VELO POINT (0.2 LtH(T} | CARKO D1 SHERVAHENTO {02 LIHITE | W/mm2 460
TENSAE STRONGTH | CARICO DI ROTTURA

BREAKNG ELONGATION | ALLUNGAMENTO A ROTTIRA

MPACT STRENGTH RESLENZA s0ve 21
BRIVELL NARDNESS DUREZZA BRIELL 04270

CERTIFICATES ON MATERIAL TESTS ACCORDING TO DIN N 10204
CERTIFICATI SUI TEST DEL MATERIALE SECONDO DN 10204
TEST ON EACH WORKPECE TEST SU OGH! PEZ20
TEST O ONL WORKPILCE OF EACH IAINIVESV O 1N PEZZ0 O OGM COLATA|

[BATCH ANALYSIS ANALISI CHMCA

VERICA PRESENZA CRKCHE.
L TRASOMC TEST Iv(sv AD ULTRASUOM

QUEHOED AND TEMPERED AFTER ROUGH HAOINNG 3¢
HOTE| BOMFTURE DOP) SGROSSATURA

=

1440

180855

475

400 400
Sx45°
[T } /] ) )
VAN I“ ] 300“ 220 | I
180 180
710 \ N“8+11 HOLES ON THE OPPOSITE SIDE M24 x50 DEP
3,3 M20x40 OEP.
LF»A
L
N° 8 HOLES M16x30 DEP :‘
N° B HOLES M12¢30 OEP. s 93

™

390

ml

SEE TEST REQUIREMENT

200 200

SECTION B-B

7 W YY)

% : MACHINE TOGETHER WITH DETAIL DWG B-80577

R625
e

SEE TEST REQUIREMENT

56901

SECTION C-C

SECTION A-A '

125

QUALITY INSTRUCTION FOR FORGING CAPSULES PARTS
GEWCRAL TOLLERAWCES AND HACFO®IG AL LOVANCES 10 0N 7570, IMESS OTTERWISE SPECFED,

TEQMCAL (ONDITION OF SUPPLY AND QUALITY SPECIRCATIONS ARE STATED I THE DI DR SEW '

YIS L]
TesT SPEOMN SPECUL
TANGENTUL: e SR REQUREMEX]
"
we [\]

REGS [RAVON |
TEST RO |SOT (LASS %l DDA [0 FREQUENCY

[EXTEROR QUALLTY it FREQUDKY

[DNTRE WORKPE(E

ouiniry lmlﬂﬂg‘

ALL SURFACES FREE OF (RACKS.
[ARTHER REQURENTS

GRAN SIZE .6 ON 56601 - V{
OEFORHATION GRADE: Deforwiation ratia tfes farging »3
WOEALG PONT:  lleat treatment after prediminary verking

Eg mvflfv
ALL TESTS (ARREQ ONT HUST BE (ERTFED ACC TOOKEN KI0L-38

SCOSTAMENTI LINITE AMMESSI PER
DIHENSIONI SENZA INDICAZIONE DI
TOLLERANZA SECONDD DIN 7168 n-S

ACCEPTABLE DEVIATIONS OF
DIKENSIONS VITHOUT TOLERANCES
MEAN, AS PER DIN 7168 n-S

SHUSSARE O ARROTONDARE GLI
SPIGOLI CON Sn 1x45* O R=!

CHANER 1x45*
ROUND EDGES R. =1

TYP.

/ | MANDREL HOLDER HEAD - SEE DWG.
TESTA PORTA MANORIND | VEDI OIS, |
[ e oI=

9L0

I |
D'Im‘""l'.:-"ln il @

) CO

0129011-20.014
a

v
LY







6

Y (5:1)

Z (5:1)

Freistich DIK 509

£h0 -
undercut DIk 509
[3XY

85

85

0.6

X1)/ 7o o5 diese Flichen drallfrei geschliffen
v surface free of twists

S S )

PeP-Elemant 1 WeB-Glomern
A02398P550,20.10,0140
ZENTRIERVORRICHTUNG
CENTERING DEVICE

6000190910/00010

)

o PO
Exzenter
Eccentric

Ewzelteilzeichnung
Conponent draving
; s

+005
189.7-008 150,765
246 102 207
55541
R6
vergiitet auf 900:50 N/mm?
Ansicht X heat-treated to a hardn. of 900250 N/mm?
View X “ .
— . — . — oberfldchengehartet
M 2:1 HRC 5843
Eht=15+0,5mm
surface hardened
HRC 5843
Eht=1,5+05mm
v
s
Schwei schriften, Fertigungsvorschrift * SN 200 ™ beachten
Welding code, observe manufacturing instruction acc.to “ SN 200
Besondere Anforderungen / Regelverke
Special requicements 7 Code of standards
Atlgementoleranzen
General tolerances DINEN1SO 13920 | BF
Alle ni cht baassten Keh(nihte aimm)
2% Al fillet welds for which na dimension is shown atmm}
Ja m
Spannungsarmgegliht Yes
Heat-treatment for stress-relieving Nein
No 0
Schweissnahtgite / Bewertungsgruppe bei Sthweiss en atlg
Quality of weld 7 Qualily level for weld ng in general DININ 150 5812
Besopdﬂfu Schweisszusatzwerhstoft
8105 Special filler melat
rmung / 2wisthenlagentemperatur «
280 Pre-heating / nterpass temperature
(35 Ja [m]
350 Zuischenabnahme i gehef teten Zustand Yes
20 Intermediate inspection in tack-welded condition Nein )
No

T
KNJASANN | 3341 18.11.2016 [ mamtatuim imrracvion S EU0] 5 oy Fiest anste proecton metiod
oo

G TV B Sererers 7 Ralares Gttt 7 roreld TR o

e LT et 14041584

Uriite 2 ave  rawre Stmmt b 1 Onrmert.
KNJASANN | 1:2 | 1006218894 -1 w1

W

T
1az01
















	disegni M_ridotto
	1
	2
	3
	4
	5
	6
	7
	8
	10
	17
	18
	19
	20
	21
	22

	secondo gruppo di disegni anonimi_printed

